RAILWAY RECRUITMENT BOARDS
Yo et a2

Level-1 Posts CEN-02/2018

[Participant ID: 112007106320021
Participants Name:[KULDEEP MEENA

Test Center Name: [Satya Online Education
Test Date: 19/09/2018

Test Time: 9:00 AM - 10:30 AM
Subject: ILevel 1

1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections

! Gidq dwm ¥ &R 3dC ¥ U %7 A g 81
Are X RNA Ufd

X 2 DNA "fd

v © mRNA Hfd

X 4 DNA 3R RNA Ufd

Question ID : 691352779
Option 11D : 6913523113
Option 2 ID : 6913523115
Option 31D : 6913523114
Option 4 ID : 6913523116
Status : Answered
Chosen Option : 3
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Question ID : 691352716
Option 11D : 6913522861
Option 2 1D : 6913522864
Option 31D : 6913522862
Option 4 1D : 6913522863
Status : Not Answered
Chosen Option : --
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Chosen Option :

Question ID : 691352760
Option 11D : 6913523039
Option 2 ID : 6913523037
Option 3 1D : 6913523038
Option 4 ID : 6913523040
Status : Answered
Chosen Option : 2
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Question ID : 691352798
Option 11D : 6913523189
Option 2 ID : 6913523192
Option 31D : 6913523191
Option 4 ID : 6913523190
Status : Answered
Chosen Option : 3
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Question ID : 691352777
Option 11D : 6913523106
Option 2 1D : 6913523107
Option 31D : 6913523105
Option 4 ID : 6913523108
Status : Not Answered
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Question ID : 691352756
Option 1 ID : 6913523024
Option 2 ID : 6913523023
Option 3 ID : 6913523022
Option 4 ID : 6913523021

Status : Answered
Chosen Option: 1
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Question ID : 691352796
Option 11D : 6913523181
Option 2 ID : 6913523184
Option 31D : 6913523183
Option 4 ID : 6913523182
Status : Answered
Chosen Option : 2
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Question ID : 691352702
Option 1 ID : 6913522806
Option 2 ID : 6913522805
Option 31D : 6913522808
Option 4 1D : 6913522807
Status : Answered
Chosen Option : 1
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Question ID : 691352705
Option 11D : 6913522817
Option 2 ID : 6913522818
Option 31D : 6913522820
Option 4 ID : 6913522819
Status : Answered
Chosen Option: 3
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Question ID : 691352726
Option 11D : 6913522901
Option 2 ID : 6913522902
Option 31D : 6913522904
Option 41D : 6913522903
Status : Answered
Chosen Option : 4
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Question ID : 691352773
Option 11D : 6913523089
Option 2 ID : 6913523092
Option 31D : 6913523090
Option 4 ID : 6913523091
Status : Answered
Chosen Option : 4
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Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

: 691352794

1 6913523174
1 6913523173
1 6913523176
1 6913523175
. Answered
Chosen Option :
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

691352738
6913522949
6913522952
6913522950
6913522951
Answered
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Question ID : 691352744
Option 1 ID : 6913522974
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Status :
Chosen Option: 2
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Answered
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Question ID : 691352720
Option 11D : 6913522878
Option 2 1D : 6913522880
Option 31D : 6913522879
Option 4 ID : 6913522877
Status : Answered
Chosen Option : 2
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Question ID : 691352792
Option 11D : 6913523167
Option 2 ID : 6913523165
Option 31D : 6913523168
Option 4 ID : 6913523166
Status : Answered
Chosen Option : 2
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Question ID : 691352711
Option 11D : 6913522844
Option 2 ID : 6913522843
Option 3 ID : 6913522841
Option 4 ID : 6913522842




Status : Not Answered
Chosen Option : --

% fawu & R § Fofefed ¥ 9 9 98 998 22

Ans%%ﬁwﬁaw‘\mﬁwaﬁwﬁfmm%
ﬁ%ﬁaﬁﬁw%wwﬁ%wwnﬁnﬁmﬁﬁ
Vo Tl & IR0 # &R 3P ST R R s 7
ﬁ?;;mffmm 3= Wigdl ¥ Y Higdl & R i Hd €

Question ID : 691352767
Option 11D : 6913523067
Option 2 ID : 6913523065
Option 31D : 6913523066
Option 4 1D : 6913523068
Status : Answered
Chosen Option : 4
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Question ID : 691352797
Option 11D : 6913523185
Option 2 ID : 6913523186
Option 3 ID : 6913523187
Option 4 ID : 6913523188
Status : Answered
Chosen Option : 4
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Question ID : 691352754
Option 11D : 6913523015
Option 21D : 6913523013




Option 31D : 6913523016
Option 4 ID : 6913523014
Status : Answered
Chosen Option : 4
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Question ID : 691352728
Option 11D : 6913522912
Option 2 ID : 6913522909
Option 3 1D : 6913522911
Option 4 ID : 6913522910
Status : Answered
Chosen Option : 1
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Question ID : 691352707
Option 11D : 6913522828
Option 2 ID : 6913522827
Option 3 ID : 6913522825
Option 4 ID : 6913522826
Status : Answered
Chosen Option : 4
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Question ID : 691352701
Option 11D : 6913522802
Option 2 ID : 6913522803
Option 31D : 6913522804




Option 4 1D : 6913522801
Status : Answered
Chosen Option : 2
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Question ID : 691352714
Option 11D : 6913522856
Option 2 ID : 6913522854
Option 3 ID : 6913522855
Option 4 ID : 6913522853
Status : Not Answered
Chosen Option : --
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Question ID : 691352724
Option 11D : 6913522893
Option 2 ID : 6913522895
Option 31D : 6913522894
Option 4 ID : 6913522896
Status : Not Answered
Chosen Option : --
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Question ID : 691352706
Option 11D : 6913522824
Option 2 ID : 6913522823
Option 31D : 6913522821
Option 4 ID : 6913522822
Status : Answered
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Question ID : 691352771
Option 1 ID : 6913523081
Option 2 ID : 6913523082
Option 31D : 6913523083
Option 4 1D : 6913523084
Status : Answered
Chosen Option : 4
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Question ID : 691352750
Option 11D : 6913523000
Option 2 ID : 6913522999
Option 3 ID : 6913522997
Option 4 ID : 6913522998
Status : Answered
Chosen Option : 4
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Question ID : 691352768
Option 11D : 6913523069
Option 2 ID : 6913523072
Option 31D : 6913523070
Option 4 1D : 6913523071
Status : Answered




l

Chosen Option : 1

B RGN Bl 1?7

Q.3 %2 of feerd R R aft A B & 3w & frg Al v R § Wy A A T A
0 fafygl & e erdld a2 @ 2, & geral & fg 1982 §

X fRafsd & e gl dad o
X 2 f@arfsal & R wga =M e
X = fgarfsal & fog Agiy s 9w
v - e & R a8t s Bl

Question ID : 691352782
Option 1 ID : 6913523127
Option 2 ID : 6913523126
Option 31D : 6913523128
Option 4 ID : 6913523125
Status : Answered
Chosen Option : 4
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Question ID : 691352736
Option 11D : 6913522941
Option 2 ID : 6913522944
Option 3 ID : 6913522942
Option 4 ID : 6913522943
Status : Answered
Chosen Option : 4
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

691352741
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6913522963
Answered
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Question ID :
Option 11D :
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Option 41D :
Status :
Chosen Option :
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Not Answered
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Option 1 ID
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1 691352765
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Question ID : 691352719
Option 11D : 6913522873
Option 2 ID : 6913522876
Option 31D : 6913522874
Option 4 ID : 6913522875
Status : Answered
Chosen Option: 1
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Question ID : 691352722
Option 11D : 6913522885
Option 2 ID : 6913522886
Option 31D : 6913522888
Option 4 ID : 6913522887
Status : Not Answered
Chosen Option : --
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Question ID : 691352793
Option 11D : 6913523169
Option 2 ID : 6913523172
Option 31D : 6913523171
Option 4 1D : 6913523170
Status : Answered
Chosen Option : 2
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Option 11D : 6913522868
Option 2 ID : 6913522867
Option 31D : 6913522865
Option 4 ID : 6913522866
Status : Answered
Chosen Option : 3
Q.3 .
s gic UTAI x4738, 9 ¥ [qURT B, A x &1 M I BRI?
Ans x 1.5
X286
Vs 5
X4 4
Question ID : 691352704
Option 11D : 6913522816
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Status : Answered
Chosen Option: 3
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Question ID : 691352758
Option 1 ID : 6913523032
Option 2 ID : 6913523031
Option 3 ID : 6913523030
Option 4 ID : 6913523029
Status : Answered
Chosen Option : 3
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Question ID : 691352781
Option 11D : 6913523123
Option 2 ID : 6913523124
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Status : Answered
Chosen Option : 3
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Question ID : 691352749
Option 1 ID : 6913522995
Option 2 ID : 6913522994
Option 3 ID : 6913522996
Option 4 ID : 6913522993
Status : Answered
Chosen Option : 1
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Question ID : 691352703
Option 11D : 6913522809
Option 2 ID : 6913522810
Option 31D : 6913522812
Option 4 ID : 6913522811
Status : Answered
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Question ID : 691352747
Option 1 ID : 6913522985
Option 2 ID : 6913522986
Option 31D : 6913522988
Option 4 ID : 6913522987
Status : Answered
Chosen Option : 4
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Question ID : 691352753
Option 11D : 6913523012
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Status : Not Answered
Chosen Option : --
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Question ID : 691352783
Option 11D : 6913523132
Option 2 ID : 6913523131
Option 31D : 6913523130
Option 4 ID : 6913523129
Status : Not Answered
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Question ID : 691352799
Option 11D : 6913523196
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Status : Answered
Chosen Option : 2
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Question ID : 691352772
Option 11D : 6913523086
Option 2 ID : 6913523088
Option 31D : 6913523085
Option 4 ID : 6913523087
Status : Answered
Chosen Option : 1
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Question ID : 691352723
Option 11D : 6913522891
Option 2 ID : 6913522889
Option 31D : 6913522890
Option 4 ID : 6913522892
Status : Not Answered
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Chosen Option :

Question ID : 691352800
Option 11D : 6913523198
Option 2 ID : 6913523197
Option 31D : 6913523199
Option 4 ID : 6913523200
Status : Not Answered
Chosen Option : --
Q.5
1 YR e FE3® 7% & &1 dRdids A &1 UI?
A - ; E
" 1 a8 PUR RERIER IgHIu
X 2 FHd UIGHIU
X = TATY GIgSHIul
X4 gHIRT mgaﬁ U
Question ID : 691352784
Option 11D : 6913523134
Option 2 ID : 6913523135
Option 31D : 6913523136
Option 4 ID : 6913523133
Status : Not Answered
Chosen Option : --
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Question ID : 691352713
Option 11D : 6913522852
Option 2 ID : 6913522849
Option 31D : 6913522850
Option 4 ID : 6913522851
Status : Not Answered
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :
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Not Answered
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :
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Not Answered
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Note: For this question, discrepancy is found in question/answer. So, This question is ignored

for all candidates.
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Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

691352735
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Option 2 ID
Option 3 ID
Option 4 ID
Status
Chosen Option :

691352755
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: Answered
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Question ID
Option 1 ID
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1 691352795
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Chosen Option : 3
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Question ID : 691352787
Option 11D : 6913523146
Option 2 ID : 6913523148
Option 3 ID : 6913523147
Option 4 ID : 6913523145
Status : Not Answered
Chosen Option : --
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Question ID : 691352762
Option 11D : 6913523047
Option 2 ID : 6913523046
Option 3 ID : 6913523045
Option 4 ID : 6913523048
Status : Answered
Chosen Option : 4
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Question ID : 691352727
Option 11D : 6913522908
Option 2 ID : 6913522907
Option 3 ID : 6913522906




Option 4 ID : 6913522905
Status : Answered
Chosen Option : 1
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Question ID : 691352766
Option 11D : 6913523062
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Option 4 ID : 6913523063
Status : Answered
Chosen Option: 3
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Question ID : 691352710
Option 11D : 6913522838
Option 2 ID : 6913522837
Option 3 ID : 6913522839
Option 4 ID : 6913522840
Status : Not Answered
Chosen Option : --
046 Calculate the momentum of a gun of mass 400 kg when it recoils with a velocity of 0.25ms™.
Ans 1
1. 100 kgms
2. 100 kgms?
3. 100 kms™1
4. 100 kgms 2
Note: For this question, discrepancy is found in question/answer. So, This question is ignored
for all candidates.
Question ID : 691352759
Option 11D : 6913523033
Option 2 ID : 6913523035
Option 3 1D : 6913523034
Option 4 ID : 6913523036
Status : Answered




l Chosen Option : 3

056 o= @ cxidl T seld 1 iU S & fau Fufaled 3 9 9 Al srpladl &1 ware fear w8

A B C D

1A SR B
X2p 3R A
X3B 3R C
X4 c3RD

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

691352748
6913522989
6913522992
6913522990
6913522991
Answered

1

% PR S o o0 7 oy A 8 &2
Ans X 1. 6.022 % 1024

v 2 6.022% 1023

X3 6.022%x10%°

X 4 6.022 % 1022

Status

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
: Not Answered
Chosen Option :

691352769

6913523074
6913523075
6913523076
6913523073

6 - .
@6 Mechanical energy is:

Ans (1. The energy released during mechanical work
v 2

The sum of kinetic energy and the potential energy of an object
/< 3. Equal to the rate of doing work

/< 4. The energy absorbed during movement of a body

Question ID : 691352761




Option 1 ID : 6913523043
Option 2 ID : 6913523042
Option 3 ID : 6913523041
Option 4 ID : 6913523044
Status : Answered
Chosen Option : 1
Q.6
o 19 ORI 2018 ®I fbd URT & FoF gE e & FU # Fga fear mr
Ans 1 1 ﬁ
X 2 A AR
X 3 3N 4
X+ A RIS
Question ID : 691352788
Option 11D : 6913523149
Option 21D : 6913523152
Option 31D : 6913523150
Option 41D : 6913523151
Status : Answered
Chosen Option : 1
Q.6
o 1aU U f[deeq oAl § 9 LIGHT & urd guul widfds &1 999 &3
LIGHT THoLl [GHL LHOM
Ans x 1. D
X2C
v:B
X4 A
Question ID : 691352752
Option 11D : 6913523008
Option 2 1D : 6913523007
Option 31D : 6913523006
Option 4 1D : 6913523005
Status : Answered
Chosen Option : 3

ars K124
X250 J

Q7 T 10 kg B 9 5 mis B T A AHA 31 TG BT TS it il




V'3 125 J

Chosen Option :

X425 )
Question ID : 691352764
Option 11D : 6913523053
Option 2 ID : 6913523055
Option 31D : 6913523056
Option 4 ID : 6913523054
Status : Answered
Chosen Option : 2
Q.7 .
1 A S T YRGB SRl U i i
T .5 B.RH 6.7
Ans x 1.7
X2U
v Q
X4 S
Question ID : 691352737
Option 11D : 6913522947
Option 2 ID : 6913522948
Option 3 ID : 6913522945
Option 4 ID : 6913522946
Status : Answered
Chosen Option: 3
. I’ 3 R aq U Bl 3R Y |
02713‘11;1%1@?[ o 2R Byl W TR $Y AR a9 $ (& & F e FE A i §
B IR B $d HR 9] 82 UdH IR &1 HR TR 3
DY
1. 7S T FI IH-0els YR 2 kg gl
2. 91 T 1 $A UR I 999 & A YR Y 12kg AT T
Ans
X . Had Y 1 T gl
v T @ suF 1 T1 2 9o gl
X @ Hy 1 R A8 2 gafc
X+ $Haq $YF 2 T gl
Question ID : 691352740
Option 1 ID : 6913522958
Option 2 ID : 6913522960
Option 3 ID : 6913522957
Option 4 ID : 6913522959
Status : Answered

1

Ans

°é7 fufif@d § ¥ 319 91 9 #sdiid $f emad grut # te Ffdd = T8 o 9




V' BRI
X 2 Fehy

K2 o
X+ TRgIeT

Question ID : 691352775
Option 11D : 6913523098
Option 2 ID : 6913523100
Option 3 ID : 6913523097
Option 4 ID : 6913523099
Status : Answered
Chosen Option : 1
Q7 fw e gy & deu A FufdfEd 7 F1 9 db HoIgd 32
T WHR GRI Fisodl & T IRl § uifefia 97 & 3uan uigsfig & ¢ aifgu?
b
. 8, S99 THiaR &I e g Bl 81 AN Aeort TRied & fad OH S @ T &
Il. T8I, 98 ghayeHS gl
Ans ) C
X1 $Had d& |l §oEd ©
X2 dh | 3R 11 g4 8 Hued ©
XA @dh | AR T € ab || 7oed ©
v 4 &ad db | HoEd ©
Question ID : 691352732
Option 11D : 6913522926
Option 2 ID : 6913522928
Option 3 ID : 6913522927
Option 4 ID : 6913522925
Status : Answered
Chosen Option : 4
L7 R wfau & SfER, Wau SR fdes $6e & By wed A uRkd g 82
Ans
X1 gHEl, S AR MO 9ed us 9y
X 2 3= Had
X3 f9Tar g
v gl S R e weT o ¥
Question ID : 691352790
Option 11D : 6913523160
Option 2 ID : 6913523157
Option 31D : 6913523158
Option 4 ID : 6913523159
Status : Answered




Chosen Option : 4

6 fu foq oW B T Al

Q.7 =iz 200 gy el vam & FEfo 1024 B9 § &2 G € df 39 Wad &1 Ao 256 BE O e &

Chosen Option :

Ans of 1. 800
< 2 650
< 3.1400
< 41200
Question ID : 691352709
Option 11D : 6913522835
Option 2 ID : 6913522833
Option 31D : 6913522836
Option 4 1D : 6913522834
Status : Answered
Chosen Option: 1
Q.7 = )
Y Fofafad & 9 ©F O uer URemn & iU 2awgd [8l 87
Ans « LY
ERICITE|
X2 gqRIfta
X 3 Qiﬂ ] Ub[T]
4 [ r
X 4 pIEd S5 HTHSS
Question ID : 691352778
Option 11D : 6913523112
Option 2 ID : 6913523111
Option 31D : 6913523110
Option 4 ID : 6913523109
Status : Answered

1

==l

==l

Ans ?(T A
v2C

0{37 T @ i IWw onpfagl & Yo B oemga B AR 99 B b omTel Bl B ot gfie




X3D
X4+ B

Question ID : 691352746
Option 11D : 6913522981
Option 2 ID : 6913522983
Option 3 1D : 6913522984
Option 4 ID : 6913522982
Status : Answered
Chosen Option : 2

Q§7 3T M YT W GO PN R 70 SY & Fofaied § 9 SF O 4rum sy | sdfied S
FU:
wgey R I Ipfedes e g
RO
I. S M SR aaHifES fear g
Il 899 ¥ AR IR # uft gy wfad €10 § off vioRem o &I Ao &R gl

e XK ad yrom 11 siafifed @
X2 9 4Rom | 3R A & 11 smfiRd @
X 3 Haq YR | fdFifed §
V4| R I AT S YRUMY Sfafed §

Question ID : 691352734
Option 11D : 6913522934
Option 2 ID : 6913522935
Option 3 1D : 6913522933
Option 4 ID : 6913522936
Status : Answered
Chosen Option : 2

Q.8 fou MU FuA & WL AT Yo & § WS 319 9t § i udid 29§ oiR S emur we fanig
0 il 7 Ru U Fespel 7§ 1 4 Fy ahad &9 I S F SFRU F 3

FY:
%o g @ €
¥ TR AT
Aot
199 g2
2. e @ §

XK Had 2 AFER0 BT ©
V2 T & 1 3R 2 3R TS B §
X5 Tl 1 AT 2 IR Al &

X+ Had 1 TR0 F ©

Question ID : 691352730




Option 11D : 6913522918
Option 2 ID : 6913522920
Option 31D : 6913522919
Option 4 ID : 6913522917
Status : Answered
Chosen Option : 2
Q.8 1% o F UH 2Aaq9 S0 & G IG5 BiHY [§g R Thdl $% & 99 G 1P &g W 3@ ™
T 2 ffifa 87 ot i @
Ans
FASREIY) oF i i nie s 5]
v 2 grdfa® 2R It
X3 YR SR Jeet
X 4 grafass 3R A
Question ID : 691352763
Option 1 ID : 6913523052
Option 2 ID : 6913523049
Option 3 ID : 6913523051
Option 4 ID : 6913523050
Status : Answered
Chosen Option : 4
Qs Ve—1 Ve+1
2 % = IR y = x|
Ve+1 y 6—1 %’
(3x2+5xy -!-3}’2]_ Sﬂﬂ aﬁ?
(3x®—5xy +3y2) .
Ans 5 63
1.2
313
553
XK 2. o
313
x5 663
313
563
X . 2%
303
Question ID : 691352721
Option 1 ID : 6913522881
Option 2 ID : 6913522882
Option 3 ID : 6913522883
Option 4 ID : 6913522884
Status : Not Answered
Chosen Option : --
Q.8




fafafad 8 € a9 9 gduromg 99 e U s # fRd g2

& St vee A o Feart I Fe, H 39 9N 31 RU &1 Y 1eed % 9me TRdd & @t
IgHal § Tditen FT @ g

TF&I'I'\'“IT:
I 39 &7 & SO T8 70 e Y g
Il. Ui & U Agedyyl WP 8 ol Wi gdyd W ue yHiE Sl 8

o gduRo | R 11 g & ST ©
X 2 $Had YAURUN || SAdFied gl
X 5. Phad YdyRUN | AdHigd 8l
X4 9 G gduRon | 3R A & gduRon 1| Siafifed §

Question ID : 691352733
Option 11D : 6913522932
Option 2 ID : 6913522930
Option 3 ID : 6913522929
Option 4 ID : 6913522931
Status : Answered
Chosen Option : 2

048 TF ffEd His #, TEAM &I WHDP & =0 # fora o1 §1 33 S & COINS ST HY forar smam?

Ans of 1. FRLQV
X 2 FRLBZ
« 3 RvJaL
X 4 QJPTU

Question ID : 691352729
Option 11D : 6913522915
Option 21D : 6913522914
Option 31D : 6913522913
Option 4 ID : 6913522916
Status : Answered
Chosen Option : 1

05-8 Viacom 18 Hifgar wi. fafes 3 o Rd) gd) 290 Red RAwer &1 # g )
Ans 5 1. SHdcsY 2015

Option 41D :

X 2 Orf 2017

X3 2Md 2014

v 4 T35 2016
Question ID : 691352786
Option 11D : 6913523144
Option 2 ID : 6913523142
Option 31D : 6913523143

6913523141




Status : Not Answered
Chosen Option : --

S R T Y FRAT $ag  # TGHT 2
Ans x.]. a‘[}g

X > TR

X 3. QIR0

v frdf

Question ID
Option 1 ID
Option 2 ID

Option 4 ID

1 691352757

1 6913523028

1 6913523027

Option 31D :

1 6913523026
Status :

Chosen Option :

6913523025

Answered
1

Ans 1. 2009
X 22008
V2 2010
X 4 2011

%® Apple 7 O @ iPad &1 HeclHifea feasy & wU § 9w fa

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

691352785
6913523138
6913523137
6913523139
6913523140
Not Answered

8 &l 19 o Wyl 32
&1 ui" d 8 S &9 H @sl 82
FY:
1. 9q W=y ot gl
2. %0l gFd &1 gal § da gl
3. 847 31 |l & ged B
4. 94 for § ot gl

XK1 PYT 1 R 3 wiE gl

X2 FHad U 1, 2 3R 3 74 g

v oY 1, 2, 3 3R 4 Tai| gl

X+ Jyad § ¥ Bis o HuT mafE 76 8l

Q.8 Fwm, AFa, g, T oK frT tE Ufdq # WS T 39 SR W 9 Uy &1 IW ¢ & fag Fefiea
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Chosen Option :

Question ID : 691352743
Option 1 ID : 6913522969
Option 2 ID : 6913522971
Option 3 ID : 6913522970
Option 4 ID : 6913522972
Status : Not Answered
Chosen Option : --
Qés 85% da WY H1 & 916, AP Wia AIE T 1,200 SN &1 9! A da- fobar 32
Ans X 1.% 12,000
v 2. % 8,000
/<3 % 10,000
< 4 % 8,500
Question ID : 691352712
Option 11D : 6913522846
Option 2 ID : 6913522845
Option 3 1D : 6913522848
Option 4 ID : 6913522847
Status : Answered
Chosen Option : 2
069 g+ B < F FUH AR % B+ F FO Y RGN I €, A (25 +30) x 5)x 10 B AF I &7
Ans x 1.1
X220
<3 0.1
v —0.1
Question ID : 691352739
Option 11D : 6913522954
Option 2 ID : 6913522953
Option 3 ID : 6913522955
Option 4 ID : 6913522956
Status : Answered
Chosen Option : 4
Q.9 Name the process in which a metal is attacked by substances around it such as moisture, acids, etc.
1
Ans  of 1. Corrosion
X 2. Oxidation
/< 3. Rancidity
X 4 Reduction
Question ID : 691352770
Option 1 ID : 6913523079
Option 2 ID : 6913523078
Option 3 ID : 6913523077
Option 4 ID : 6913523080
Status : Answered

1




% v @ ugaH B¢

A B
B. WRIAAR

D. Il

Ans X1 D
X2 C
X3 A
v+ B

Question ID : 691352745
Option 11D : 6913522980
Option 2 ID : 6913522979
Option 31D : 6913522977
Option 4 ID : 6913522978
Status : Answered
Chosen Option : 4

Qé" "YRA Td & HGRA! (PIO) & Ul TUCH THGT_ &I miferd fdar mam ol
e o 9 SEEEt 2018

X2 11 Jdls 2014

X3 2 3Ud, 2017

X 4 19 OFaI 2016

Question ID : 691352791
Option 11D : 6913523162
Option 2 ID : 6913523164
Option 31D : 6913523161
Option 4 ID : 6913523163
Status : Not Answered
Chosen Option : --

=it (4,1), (1,1), (3,5) g7 R By g
XK. gAfgeEg SR GHSI By

v 2 fauq 91 fBAyw

X 5. TSIV WG JAGaE BHYS T8l

X+ GAGATG WG GHSIU el




Question ID : 691352725
Option 1 ID : 6913522897
Option 2 ID : 6913522900
Option 31D : 6913522899
Option 4 ID : 6913522898
Status : Not Answered
Chosen Option : --
059 Ife U FfEd 4 & ‘MAT BT B KYR &, O 38 W9 & ‘HIS' & Y forar wmemme
ans X1 FGT
X 2 FGR
X 3 FGH
v © FGQ
Question ID : 691352731
Option 11D : 6913522923
Option 2 ID : 6913522924
Option 3 ID : 6913522922
Option 4 ID : 6913522921
Status : Answered
Chosen Option : 4
069 T ToFA & GRIF SIF G SE-3 e HIRIG Fated gl §, df 4 &l FEf & gl
Ans J
1 gAY
X2 pet
X 3 T
X a EﬂGﬂ[g
Question ID : 691352780
Option 11D : 6913523120
Option 2 ID : 6913523117
Option 31D : 6913523119
Option 4 ID : 6913523118
Status : Answered
Chosen Option : 1
Qf Which of the below is not a part of 5- Kingdom classification by Whittaker?
Ans X 1. Protista
/< 2. Fungi
v 3. Protozoa
/< 4 Animalia
Question ID : 691352776
Option 11D : 6913523101
Option 2 ID : 6913523102
Option 31D : 6913523103
Option 4 ID : 6913523104
Status : Not Answered




l Chosen Option

L P 3T arE T A T wE $ d9 Uy & §d @ § o=ifar g2
A)TTOR
B) Tt

Ans

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID

Status

: 691352751

: 6913523004
: 6913523003
1 6913523001
: 6913523002
: Answered
Chosen Option :

2

% affeeey B oisy Rigid Had T A S ol
Ans J‘]a%

X adn

< 3 Heh

X+ R

Option 31D :
Option 41D :
Status:

Chosen Option :

Question ID :
Option 11D :
Option 21D :

691352774
6913523095
6913523093
6913523094
6913523096
Not Answered

% fouwR 2017 &, Tl 3oz qweR ¥ 58 gmitia e mr o
e o Tl
X 2 S TRy g
X s S =Mfd IS




X 4 . DR G

Question ID :
Option 11D :
Option 21D :

Option 31D :
Option 41D :
Status :

Chosen Option :

691352789
6913523155
6913523153
6913523156
6913523154
Answered

1




